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1/4 (B) 3/8 (C) 1/2 (D) 5/8 (E) 3/4 13. If Bob can do a job in 20 days
and Jane can do the job in 30 days, they work together to do this job
and in this period, Bob stop work for 2.5 days and Jane stop work for
x days, and the job be finished for 14 days, what is x? (A) 1.6 (B) 3.2
(C)15(D) 1.25 (E) 1.15 14. The probability of A is 60% and the
probability of B is 50%, what is the most possible probability that
neither A nor B would happen? (A) 0.80 (B) 0.40 (C) 0.75 (D) 0.55
(E) 0.68 15. In an insurance company, each policy has a paper
record and an electric record. For those policies having incorrect
paper record, 60% also having incorrect electric record. For policies
having incorrect electric record, 75% also having incorrect paper
record. 3% of all policies have both incorrect paper and incorrect
electric records. If we randomly pick out one policy,what’ s the
probability that the one having both correct paper and correct
electric records? (A) 0.80 (B) 0.94 (C) 0.75 (D) 0.88 (E) 0.92 16.
There are 1200 respondents to a poll, each favoring their preference
for candidates A,B, and C. 54% favored A, 48% favored B, and 42%
favored C, and there is 30% favored both A and B. what' sthe
largest possible number of respondents favoring C, but not Camp.A?



(A) 25% (B) 30% (C) 28% (D) 38% (E) 40% O U OO 0O OO 11.00 O
JododododododoAbdl1loBOoz2o0CcU30 0O
JododododooouooonooABO1020ACO1
OJ30pCU2030 oo ouououoouoooood
Jod0odododoABCO1IO2030 0000000
0P3320 00000000000OT13.001/2000 14-2.50
17300 14-xO0 =100 Ox=12514.0 000000000000
JAO BOOOOOUOOOoOo400000000o.15.000
[ O O xO O incorrect paper record] y, incorrect electric record
0 z0O OO xy60%=301 xy=3% xz/500 =310 xz=4% 0 00 00O O
Jo0o0ododosd 40-30=6000 0000 0940
16.00 O AL BO O O O O 540 480 -300 =720 0 O CO 280 .
10TestO D OO0 O00O0oO0ooooooooo
www.100test.com



